

Updates on the affected population and Cost of Assistance provided to victims of Tropical Storm "Sendong"

Outline of Presentation



- Total Affected Areas and Families Served
- No. of Affected/Served families per region
- Summary of Funds downloaded from CO to FO's intended for TS "SENDONG"
- Relief/Response Interventions
- Relief Augmentation Transported to DSWD Field Office X
- Needs Assessment

Total Affected Areas and Families Served

Regions	Affe	cted	Served	
Regions	Families	Persons	Families	Persons
X	63,799	358,924	64,447	348,108
VII	12,571	62,851	12,364	61,816
CARAGA	1,304	6,781	1,304	6,781
IX	1,206	4,947	1,206	4,947
XI	502	2,510	502	2,510
TOTAL	106,739	574,517	84,887	449,482

Region:	NUMBER AFFECTED			NUMBER SERVED	
X	Brgys	Families	Persons	Families	Persons
Grand Total	179	63,799	358,924	64,447	286,294
Lanao del Norte	28	16,560	79,780	16,560	65,814
1. Iligan City	28	16,560	79,780	16,560	65,814
Misamis Oriental	106	45,009	267,620	45,657	270,770
1. Kinoguitan	1	150	1,000	150	1,000
2. Manticao	13	1,170	5,820	1,170	5,820
3. Lugait	10	1,015	4,060	1,015	4,060
4. Naawan	6	411	1,760	411	1,760
5. Opol	19	3,517	21,102	3,517	21,102

Region:	N	NUMBER AFFECTED			NUMBER SERVED	
X	Brgys	Families	Persons	Families	Persons	
6. Tagoloan	7	561	3,366	561	3,366	
Cagayan de Oro City	41	37,537	226,624	37,537	171,375	
El Salvador City	9	648	3,888	1,296	3,888	
Bukidnon	45	2,230	11,524	2,230	11,524	
1. Libona	14	220	1,118	220	1,118	
2. Malitbog	1	300	1,700	300	1,700	
3. Baungon	16	1,031	5,311	1,031	5,311	

Region:	NUMBER AFFECTED			NUMBER SERVED	
X	Brgys	Families	Persons	Families	Persons
4. Cabanglasan	1	20	100	20	100
5. Manolo Fortich	1	32	160	32	160
6. Talakag	1	1	5	1	5
7. Impasug- ong	1	26	130	26	130
8. Valencia City	10	600	3,000	600	3,000

Region:	NU	NUMBER AFFECTED			NUMBER SERVED	
VII	Bgys	Families	Persons	Families	Persons	
Grand Total	110	12,571	62,851	12,364	61,816	
Negros Or.	110	12,571	62,851	12,364	61,816	
1. Amlan	6	852	4,260	691	3,455	
2. Bacong	8	130	650	130	650	
3. Pamplona	7	500	2,500	500	2,250	
4. San Jose	5	446	2,230	400	2,000	
5. Sibulan	15	1,771	8,855	1,771	8,855	
6. Valencia	13	463	2,315	463	2,315	

Region: VII	NUMBER AFFECTED			NUMBER SERVED	
	Bgys	Families	Persons	Families	Persons
7. Mabinay	4	23	115	23	115
8. Siaton	22	1,258	6,290	1,258	6,290
Tanjay City	13	3,672	18,360	3,672	18,360
Dumaguete City	17	3,456	17,276	3,456	17,276

Region:	NU	NUMBER AFFECTED			NUMBER SERVED	
CARAGA	Bgys	Families	Persons	Families	Persons	
Grand Total	12	1,304	6,781	1,304	6,781	
Surigao del Sur	10	1,240	6,461	1,240	6,461	
1. Hinatuan	7	979	4,895	979	4,895	
2. Lingig	1	250	1,500	250	1,500	
3. Tagbina	1	1	6	1	6	
Bislig City	1	10	60	10	60	
Agusan del Sur	2	64	320	64	320	
1. Talacogon	2	64	320	64	320	

Region: IX Zambo Norte		NUMBER A	AFFECTED	NUMBER SERVED	
	Bgys	Families	Persons	Families	Persons
Total	15	1,206	4,947	1,206	4,947
Dipolog City	5	822	3,164	822	3,164
Polanco	10	384	1,783	384	1,783

Region:		NUMBER AFFECTED			NUMBER SERVED	
XI	Brgys	Families	Persons	Families	Persons	
Total	10	502	2,510	502	2,510	
Compostela Valley	10	502	2,510	502	2,510	
Compostela	2	106	530	106	530	
Montevista	1	18	90	18	90	
Monkayo	7	378	1,890	378	1,890	

Region:		NUMBER AFFECTED			NUMBER SERVED	
ARMM	Brgys	Families	Persons	Families	Persons	
Total	419	27,357	138,504	5,064	25,320	
Lanao del Sur	419	27,357	138,504	5,064	25,320	
1. Marantao	28	1,789	8,945			
2. Kapal	12	1,488	7,737			
3. Buadiposo Buntong	28	2,985	14,925	2,985	14,925	

Region:		NUMBER A	FFECTED	NUMBER	SERVED
ARMM	Brgys	Families	Persons	Families	Persons
4. Piagapo	37	1,800	7,980		
5. Maguing	25	1,400	7,700		
6. Saguiran	30	1,850	9,250		
7. Bubong	36	3,000	15,015		
8. Ditsaan Ramain	35	2,079	10,395	2,079	10,395
9. Tamparan	25	958	5,620		

Region:		NUMBER AFFECTED			R SERVED
ARMM	Brgys	Families	Persons	Families	Persons
10. Tugaya	8	250	1,375		
11.Balindong	38	816	4,488		
12.Poona Bayabao	25	1,200	6,000		
13. Wao	4	200	1,100		
14. Taraka	36	1,813	9,150		
15. Bumbaran	5	500	2,750		

Region:	ľ	NUMBER A	NUMBER SERVED		
ARMM	Brgys	Families	Persons	Families	Persons
16. Tagoloan	19	2,569	12,845		
17. Lumbabayabao	12	958	4,719		
18. Maslu	4	382	1,910		
19. Mulondo	12	1,320	6,600		

Augmentation Provided to Affected Regions due to Tropical Storm "SENDONG"

Region	Amount	Purpose
X	7,000,000.00	Additional standby Funds for the flood-affected families due to Tropical Storm "SENDONG"
X	28,070,400.00	Intended for the Cash-For-Work (CFW) project of the affected families in the Municipalities Misamis Oriental and Lanao del Norte
VII	5,500,000.00	Additional standby Funds for the flood-affected families due to Tropical Storm "SENDONG"
CARAGA	500,000.00	Additional standby Funds for the flood-affected families due to Tropical Storm "SENDONG"
XI	500,000.00	Additional standby Funds for the flood-affected families due to Tropical Storm "SENDONG"
XII	500,000.00	Additional standby Funds for the flood-affected families due to Tropical Storm "SENDONG"

Augmentation Provided to Affected Regions due to Tropical Storm "SENDONG"

Region	Amount	Purpose
VII		Intended for Noche Buena Packs for 8,169 families affected by Tropical Storm "SENDONG"
IX	4,500,000.00	Intended for Noche Buena Packs for 9,000 families affected by Tropical Storm "SENDONG"
XI	3,500,000.00	Intended for Noche Buena Packs for 7,000 families affected by Tropical Storm "SENDONG"
XII	3,500,000.00	Intended for Noche Buena Packs for 7,000 families affected by Tropical Storm "SENDONG"
CARAGA	3,500,000.00	Intended for Noche Buena Packs for 7,000 families affected by Tropical Storm "SENDONG"
VII	1,421,500.00	Intended for Noche Buena Packs for 2,843 families affected by Tropical Storm "SENDONG"
X		Intended for Noche Buena Packs for 15,846 families affected by Tropical Storm "SENDONG"
TOTAL	70,499,400.00	

Relief/Response Interventions

- Activated the Regional Response Teams;
- Mobilized a 63-man Quick Response and Social Welfare and Development (SWAD) teams to assist the LGUs on data generation, management of evacuation centers, relief distribution, community kitchens, conduct of psychosocial processing sessions (PSP);





Relief and Response Interventions

• Set-up the Regional Donor's Desks for donation management;







Relief and Response Interventions



Field Offices provided LGUs with P2.08 million worth for relief augmentation support consisting of rice, canned goods, noodles, water, and non-food items;

Relief and Response Intervention

- Mobilized 154 volunteers from religious, academic, civil society organizations (CSOs) and private individuals to assist in the repacking of family packs;
- DSWD-CO released
 additional P8.18 million to
 the FOs standby fund for
 purchase of essential relief
 goods such as blankets,
 mosquito nets, clothing,
 towels, hygiene kits, etc.





Relief and Response Interventions

- Tapped the transport logistics of the Armed Forces of the Philippines (AFP), LGUs, Del Monte Philippines and other volunteer groups for the hauling of relief resources to the affected areas;
- DSWD-PNRC-Maynilad transported P15.6 million worth of additional relief goods and equipment from Manila on board C-130 and Fokker planes of the Philippine Air Force (PAF);
- Additional relief goods worth P13.6M will be airlifted today;

Items	Qty	Unit	Unit Cost	Total Cost
Assorted Used Clothes (Blouse, Tshirt etc.)	244	sacks	966.19	235,750.00
Assorted Used Clothes (Blouse, Tshirt etc.)	56	sacks	1,005.00	56,280.00
Blankets	10000	pieces	99.00	990,000.00
Clothing Packs	3590	packs	100.00	359,000.00
Clothing Packs	1410	packs	100.00	141,000.00
Plastic Mats	10000	pieces	155.88	1,558,800.00
Corned Beef, 150g (48tins/box)	350	boxes	789.12	276,192.00

Items	Qty	Unit	Unit Cost	Total Cost
High Energy Biscuits	312	boxes	2,160.00	673,920.00
Water Purifier	1	unit	12,000,000.00	12,000,000.00
Water jug	247	pieces	168.00	41,496.00
Bottled Water	62	cases	141.12	8,749.44
Bladder tank (10000liters cap)	2	unit	120,000.00	240,000.00

Items	Qty	Unit	Unit Cost	Total Cost
Motor Pump	2	unit		
Spriral Hose	4	rolls		900,000.00
Metal Box	2	boxes		
Cadaver bag	163	pieces		190,000.00
Slippers	752	pairs		
Plastic Mats	2000	pieces		000 000 00
Blankets	2000	pieces		900,000.00
Water Jug	1000	pieces		
Mobile Water Treatment Plant portable	1	unit	1,500,000.00	1,500,000.00
Assorted Medicines and Kits	1	lot		1,089,473.18
Family Food Packs	750	packs	251.06	188,295.00

Items	Qty	Unit	Unit Cost	Total Cost
Family Food Packs	730	packs	251.06	183,273.80
Family Food Packs	1500	packs	251.06	376,590.00
Family Food Packs	3060	packs	251.06	768,243.60
Bottled Water, 1.5gal	190	bottles	132.00	25,080.00
Bottled Water, 1.5gal	440	bottles	132.00	58,080.00
Family Food Packs	2420	packs	251.06	607,565.20
Family Food Packs	750	packs	251.06	188,295.00

Items	Qty	Unit	Unit Cost	Total Cost
Family Food Packs	1400	packs	251.06	351,484.00
Family Food Packs	490	packs	251.06	123,019.40
Bottled Water, 500ml	1500	bottles	5.88	8,820.00
Corned Beef, 150g (48tins/box)	290	boxes	789.12	228,844.80
Noodles, Instant, 55g (72pcs/box)	210	boxes	427.68	89,812.80
Bottled Water, 6L	37	boxes	396.00	14,652.00
Bottled Water, 1.5gal	292	bottles	132.00	38,544.00

Items	Qty	Unit	Unit Cost	Total Cost
Sardines, 155g (100tins/box)	85	boxes	1,200.00	102,000.00
Sardines, 155g (100tins/box)	113	boxes	1,200.00	135,600.00
Noodles, Instant, 55g (72pcs/box)	165	boxes	427.68	70,567.20
Corned Beef, 150g (48tins/box)	140	boxes	789.12	110,476.80
Sardines, 155g (100tins/box)	101	boxes	1,200.00	121,200.00
Shelter box	40	boxes		0.00
Pork & Beans	451	boxes		0.00
Assorted items	30	sacks		0.00

Items	Qty	Unit	Total Cost
Generator	20	Unit	
Cord Reel	20	Unit	
Tent	10	set	
Blankets	500	pieces	
Generator	10	Unit	14 000 000 00
Plastic Sheeting	70	bundles	14,000,000.00
Water Tank	10	unit	
Blankets	10	bundles	
Polyester Tank	900	pieces	
Sleeping Mattress	1170	pieces	
Sardines, 155g (100tins/box)	201	boxes	241,200.00
Corned Beef, 150g (48tins/box)	220	boxes	173,606.40
Noodles, Instant, 55g	125	boxes	53,460.00
(72pcs/box)	123	DOXES	33,460.00

Items	Qty	Unit	Unit Cost	Total Cost	
High Energy Biscuits	306	boxes	2,160.00	660,960.00	
Cheese Cup Cake	900	pieces		0.00	
Fried Rice with					
Beef/chicken bean with	10	pallets		0.00	
tomato sauce	10	10	pallets		0.00
(160boxes/pallet)					
Tent (36 boxes)	1	nallata			
Towel (26boxes)	1	pallets			
Tota	40,080,330.62				



Need Assessment

List of Required Non-Food Items

- Ready-to-Eat Foods
- Clothing (adult and children's wear, undergarment)
- Water
- Hygiene kits i.e. soap, toothbrush, toothpaste, etc.
- Towels
- Medicines
- Blankets, Mats
- Mosquito nets
- Slippers
- Kitchen utensils (plates, bowls, spoon, laddle,)
- Frying Pan and Kaldero



Thank You!